oL kst tk it “EIE” NI T 8G 1kl :

T b sh Ak & FPAN R P 69 Atk

A RE (RESH) (%) =E/C J& 4% B /mm/a (5F) AR B
1 ER/ s 0. 000/0. 345 R/ RAF
5 R/ 0. 000/6. 530 R/ %
EEA 10 TR/ 0. 175/40. 87 RIT/ £
20 iR/ — 1.340/— £/—
35 TR/ — 6. 660/— £/—
5 TR/ 0.000/13. 01 R/ %
10 TR/ — 0.230/— RAF/—
BBR 60 ER/— 0.277/— RITF/ 2
80 TR/ — 32. 660/— £/—
x, 95 ER/— 1.400/— £/—
AL 37 TR/ 0. 000/<0. 127 B/ R
R FHER 64 TR/ 0. 000/<0. 127 B/ R
95 T/ — 0.0025/— R/ —
10 TR/ s 0. 000/6. 400 R/ £
BB 30 IR/ s 0. 000/17. 600 R/ E
50 iR/ — 0.097/— o R/—
5 BR 20 ER/ <0.127/<0.127 B/ R
1:3 TR/ 0. 0040/0. 127 R/ R

FHER+ 3 R - -
3:1 TR/ — <0.127/— R /—
. 7:3 ;5&/— <0.127/— £ g/—
4:6 TR/ — <0.127/— R/ —

oL MtLtk & “HIB” AP #Gf bk

A RE (RESE) (%) =R/ C J 443k B /mm/a (5F) kS B
g 100 TR/ 0. 000/0. 000 "R/ R
BB 50 iR/ — 0. 000/— R /—
b 5 TR/ 0.127/29. 390 RAF/ £
10 EoR/— 0. 008/— R /—
. 10 EIR/ W 0.000/0. 033 R/ R
# FLBR o g
i 25 —/ s —/0.028 —/ B
" 10 —/ —/1.270 —/ RHF
7R 25 —/100 —/2. 440 —/ %
50 —/100 —/7. 620 —/ £
FHATER 25 TR/ <0.127/40. 127 R /R R
AR R 50 TR/ <0.127/40. 127 R /R R
b ST 100 TR/ <0.127/40. 127 B/ R




oL LB E “HBR” AN T 1k :

A KE (RESE) (%) ®mE/C 43R B /mm/a (5F) AR 5
10 —/ —/0. 020 —/ R
L 20 E iR/ s <0.127/<0.127 R/ R
A A ——— -
50 R/ <0.0025/0. 0508 "R/ B
_ 73 —/ —/0.127 —/ RIF
& 10 — /s —/<0.127 —/ R
> 2
i A A AAT 25 —/ —/0. 305 —/ R4F
50 30/ 5 0.000/2. 743 HR/ %
AN 28 ER/— 0. 0025/— HR/—
A BB 40 20 TR/ <0.127/40. 127 R /R R
T R 20 TR/ — 0.0708/— " R/—
o LMLtk “TEME IR NP BG4k :
AR KE (REDH) (%) ®mE/C J 43R B /mm/a (5F) iR R
s 40 T iR/95 0. 000/0. 002 R/ R
E IR 30 R/ 0. 000/<0. 127
A 245 10 <0.127/40. 127
A4 50 <0.127/40. 127
Atz 10 <0. 127/<0. 000
X 10 <0. 127/<0. 000
% ANEE 25 <0.127/<0.127
HL X 10 <0.127/<0.127
& A s 5-10 <0.127/40. 127 #® R/ R
s FAL4 20 <0.127/<0.127
& e 20 <0.127/<0. 127
BB e 20°ChaAn <0.127/<0.127
BLBR A 50 <0.127/<0.127
BRI 20°Cta e <0.127/<0.127
. 10 <0.127/<0.127
FRBR I24R)
30 <0.127/<0.127
B B AR 11 TR/ — <0.127/— R/ —
oL MILEkFE “HIMEH” PR GG Hf 1k
AR KE (RESE) %) =B/ C J ik B /mm/a () it 4 3 4R
¥ (A #EZ HCI. NaCl) A ARk 80 0. 005
W A A ARk 1 0. 005
WRALH () 100%7& A A= i A i 0. 0005
gl WA CH (H20) 100%7%& S A= i Ak Vi3 0. 0005
j}fz EN T 100%3% 4 A= ife Ty 0.003 .
N Z A ¥k (H20) i 0.127
i =R LH 99% 7 A A= ik AR i 0. 00254
ZRTUH (45%) 99 s 0. 00254
G2 37 il 0.127
FEE (4 2. 5%H2S04) 50 s 0. 305




